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2. What is your bid after the following auction:  1NT – (2) – ?                                  

 

(a)       (b)  (c)       (d) 

 AJT76   AJ2   A6   JT963   
 75   86   KT9   A  
 K843   AK985   J876    KQT6  
 JT   Q32    AJ73   A85  
 

 
 

 
 

 
 

 

        
     

     

     

3. What is your bid after the following auction:  1NT – (2) – 3 – ?                                  
 

 

(a)       (b)  (c)       (d) 

 AJ83   AJ83 
 

 AJ83   AJ83 

 75   753 
 

 K6   K654 

 KQ82   K8 
 

 743    AQ 

 K76   KQ62 
 

  KQ62   743 
 

 
 

 
 

 

 

        
     

     

     

 

 
 
 

 
 
 

1. What is your bid after the following auction: 1NT – (2) - ?  

  

      (a)   (b)        (c)      (d)  

 AJ84   A6   KQ764   97   
 97   76   76   KQ94  
 Q83   QJ9654    A92    AJ82  
 K843   K83    QJ4   753  
 

 
 

 
 

 
 

 

        
     

     

Combating Interference over our 1NT  

INTERMEDIATE LESSON 4: QUIZ
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4. What is your bid after the following auction:  1NT – (2) – ? 

  

(a)  (b)  (c)     (d)  

 AJ   84   AJT   86   
 J982   Q62   84   JT94  
 KQ6   84    AJ9654    KQ52  
 Q964   AQJ642    K6   KJ73  
 

 
 

 
 

 
 

 

        
     

      

      

2 = both majors 
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2. What is your bid after the following auction:  1NT – (2) – ?                                  

 

(a)       (b)  (c)       (d) 

 AJT76   AJ2   A6   JT963   
 75   86   KT9   A  
 K843   AK985   J876    KQT6  
 JT   Q32    AJ73   A85  
 

 
 

 
 

 
 

 

2  3  3NT  3  
    To play      Asking for a  

          hold 

Promising 

a  hold 

 5 spades GF 

     

     

3. What is your bid after the following auction:  1NT – (2) – 3 – ?                                  

 
 

(a)       (b)  (c)       (d) 

 AJ83   AJ83 
 

 AJ83   AJ83 

 75   753 
 

 K6   K654 

 KQ82   K8 
 

 743    AQ 

 K76   KQ62 
 

  KQ62   743 
 

 
 

 
 

 

 

3NT  4  4  4  
  Because there is  

no diamond hold 
  

     

     

 

1. What is your bid after the following auction: 1NT – (2) - ?  

  

      (a)   (b)        (c)      (d)  

 AJ84   A6   KQ764   97   
 97   76   76   KQ94  
 Q83   QJ9654    A92    AJ82  
 K843   K83    QJ4   753  
 

 
 

 
 

 
 

 

X      2NT *  2NT *  Pass  
Takeout the bid 3 then bid 3 

(invitational) 
   Hoping partner  

will double 

 * Lebensohl     

Combating Interference over our 1NT  

INTERMEDIATE LESSON 4: QUIZ  
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4. What is your bid after the following auction:  1NT – (2) – ? 

  

(a)  (b)  (c)     (d)  

 AJ   84   AJT   86   
 J982   Q62   84   JT94  
 KQ6   84    AJ9654    KQ52  
 Q964   AQJ642    K6   KJ73  
 

 
 

 
 

 
 

 

X  2NT  3  Pass  
Showing clubs 
or prepared to 

penalise 

After partner bids  

3 - Pass 

Game Force  After the opponents 
bid a major: double 

for takeout 

2 = both majors 


